7.6 EXACT DIFFERENTIALS & EXACT 1storder ODES: let (*) 4(x,y)=C, C is constant Y(x,y) is continuous & differentiable with respect to x, y. Differentiate (*): $d\psi = \frac{\partial \psi}{\partial x} dx + \frac{\partial \psi}{\partial y} dy = 0$ Sv, suppose we are given (\$) flen the solution to (\$); (¥).

So the 1st order differential equation $d\Psi = O$ where dy is given by (\$) has a solution given by (€). If given M(x,y) dx + N(x,y) dy = 0, Huis equatrier wordt be d4=0 if M=34 and N=34 That is: $d\Psi = \frac{\partial\Psi}{\partial x} dx + \frac{\partial\Psi}{\partial y} dy$ = M(x,y) dx + N(x,y) dy $M(x,y) = \frac{\partial \Psi}{\partial V}$ here A) $N(x,y) = \frac{\partial \Psi}{\partial Y}$ (B)

Special Case: Suppose

M(x,y) = M(x)N(x,y) = N(y)

Ma) dx=-N(y) dy ... Separable

GENERAL CASE :



Condition follows from cross-differntiating



Conditions (A), (B) and (A) identifies a 1st order equation of the form M(x,y) dx + N(x,y) dy = d4 Hence, it has a solution (72).

 $\begin{aligned} & (x) \\ & (y) \\ &$ D Rit ODE in form Mdx + Ndy=0

 $(2x - 5y) dx + (3y^2 - 5x) dy = 0$ (*) (2) Identify M, N: let M(x,y)= Zx-Sy N(x,y) = 3yz-5x 3) Test to see if (*) is exact; <u>DM</u> = -5 Dy =-5 Yes, conditur (#) is Satisfied: See that $\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$: (*) is exact.

Mobo + N dy = O is really $d\psi = \frac{\partial \psi}{\partial x} dx + \frac{\partial \psi}{\partial y} dy = 0$, i - Y = c is the solution. $(**) \frac{\partial \Psi}{\partial y} = N(x,y) = 3y^2 - 5x$ from (*). Integrate (either N, M) indegrade (***) with y: ((x,y) = y3 - 5xy + h(x) (***) But 34 = M = 2x - 5y from (*).

Differnticite (***) wit x. The result must eque M: $\frac{2\Psi}{dx} = -Sy + \frac{dh}{dx} = M = 2x - Sy$ integrating: $h = \chi^2 + \zeta$ Substitute has into (****) to get solution: $\Psi = y^3 - Sxy + \lambda^2 + c = \tilde{c}$ or y3 - 5xy + x2 = (APPLY IC, if given: from IVP: y(o) = 1 in Huisproblem.

·• (=)

Solution IV? $y^2 - 5xy + x^2 = 1$

ex) $x dy = 2xe^{x} + y + 6x^{2}$ $x dy - (2xe^{x} - y + 6x^{2})dx = 0$ $M = -(7xe^{x}-y+6x^{2})$ N = Xis <u>OM</u> . <u>ON</u> i.e. is ODE exact? $\frac{\partial M}{\partial y} = 1$ $\frac{\partial X}{\partial x} = 1$ =7 EXACT!

$$x dy - (2xe^{x} - y + 6x^{2}) dx = 0$$

$$\frac{34}{3y} dy + \frac{34}{3x} dx = 0$$

$$\frac{34}{3y} = x = 3 \text{ Mignete with } y:$$

$$\frac{4}{3y} = x = 3 \text{ Mignete with } y:$$

$$\frac{4}{3x} = y + h(x) = -2xe^{x} + y - 6x^{2}$$

$$\frac{34}{3x} = -2xe^{x} - 2e^{x} - 2x^{3} + \tilde{c}$$

 $\therefore \Psi = xy - 2xe^{x} - 2e^{x} - 2x^{3} + \hat{c}, \text{ or}$ $xy - (2x+2)e^{x} - 2x^{3} = c$

Integrating Factors Sometimes we can turn a 1st order ODE into an exect Istorder ODE (;f it's nat abready): Given $M(x,y)dx + N(x,y)dy = O(\mp)$ and found that Stry & Sing INTEGRATING FACTOR: Hultiply (7) by M(x,y) integrating backer (4) $\mu(x,y)Mdx + \mu(x,y)Ndy = 0$ let M N

so that Mdx + Ndy = O (\$) is 24=0 hence <u>24</u> dx + <u>24</u> dy= 0 is, by comparing to (7) Mu = 46 ડરુ $\partial \psi = \mu \widetilde{N}$ know that (1) is exact iff $\frac{\partial^2 \psi}{\partial y \partial x} = \frac{\partial}{\partial y} \left(m \tilde{M} \right)$

July = July are equal: $\therefore \frac{2}{54}(n\tilde{N}) = \frac{2}{5x}(n\tilde{N}).$ Expanding this $(\cancel{P}) \frac{\partial \mu}{\partial y} + \cancel{P} \frac{\partial \mu}{\partial y} = \frac{\partial \mu}{\partial x} + \cancel{P} \frac{\partial \mu}{\partial x}$ $(*) \quad \underbrace{\partial \mu}_{\partial y} \widetilde{M} - \underbrace{\partial \mu}_{\partial x} \widetilde{N} = \mu \left(\underbrace{\partial N}_{\partial x} - \underbrace{\partial \mu}_{\partial y} \widetilde{N} \right)$ NEED TO FIND IL SATISFYING (*). HOW? Try Pluis : suppose that $\mu(x, y) = \mu(x)$ So is O and (#) is then $-\frac{\partial h}{\partial x}N = h\left(\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y}\right)$

Jy = u (JN - JN)

 $\frac{\partial u}{\partial u} = \frac{1}{\dot{H}} \left(\frac{\partial \tilde{N}}{\partial x} - \frac{\partial \tilde{N}}{\partial y} \right) dy$ Solve for n=M(y). Multiply (7) by u then resulting ODE is exact. Follow word procedure. $dy = e^{2x} + y - 1$ or $\int dy - (e^{2x} + y - 1) dx = 0$ \tilde{h} = \tilde{H} = $-(\tilde{e}^{1x}+y-1)$ Clearly, 2M & ZN so ODE is not exact.

Induce an integrating
Try
$$M = M(x) - \frac{\partial h}{h} = \frac{1}{N} \left(\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y} \right) dx$$

 $M(x) dy - M(x) (e^{2x} + y - 1) dx = 0$
or $\frac{\partial \Psi}{\partial y} dy + \frac{\partial \Psi}{\partial x} dx = 0$
(if exact). Using $\left(\frac{\partial H}{\partial x} - \frac{\partial M}{\partial y}\right) dx$
where $N = 1$ and $M = -(e^{2x} + y - 1)$ we get
 $-\frac{1}{M} \frac{d\mu}{dx} = -\frac{\partial}{\partial y}(-e^{2x} + y - 1) = -1$
so $\frac{1}{M} \frac{d\mu}{dx} = -1$
or $\frac{d\mu}{M} = -dx$
Solving $\ln |\mu| = -x + c$
(forget construct)

 $\therefore \mu = e^{-\chi}$ Multiply ODE by M. Recult is an exact equation:





Check for exact:

$$\frac{\partial N}{\partial x} = \frac{\partial M}{\partial y}$$
$$-e^{-x} = -e^{-x}$$

Solver (7): $e^{x}dy - e^{-x}(e^{2x}+y-1)dx = 0$ $\frac{\partial \psi}{\partial y} dy + \frac{\partial \psi}{\partial x} dx = 0$ 34 = e⁻ ≈ integrate wort $\psi = -e^{-x}y + h(x)$ $-\frac{1}{2} = e^{-x}y + h(x) = -e^{-x}(e^{2x}+y-1)$ $-e^{-x}y + h(x) = -e^{x} - e^{-x}y + e^{-x}$ $h(x) = e^{-x} - e^{-x}$ integrate: $h = -e^{-x} - e^{x} + C$ $\dot{\psi} = -e^{-x}y \cdot e^{-x} + c$

Bernoulli Equation (BE) $\frac{dy}{dx} + Q(x)y = f(x)y^n$ neR we know how to solve for n=1 (her first order ODE. For n≠1, we use a tricle: Trick let w=y¹⁻ⁿ dw = (1-n) y 1-n-1 dy solving for : $dy = \frac{1}{1-n} y^n dw$. (Å) substitute (A) into (BE): $\frac{1}{1-n}y^n\frac{dw}{dx}+Q(x)y=f(x)y^n$ $\frac{1}{1-n} \frac{dw}{dx} + Q(x) \frac{y}{y^{n}} = f(x)$ $\frac{1}{1-n} \frac{dw}{dx} + Q(x) \frac{y^{1-n}}{y^{1-n}} = f(x)$

$$\frac{1}{1-n} \frac{dw}{dx} + Q(x) W = f(x)$$

$$\frac{dw}{dx} + (1-n)Q(x) W = (1-n)f(x)$$

$$\frac{dw}{dx} + (1-n)Q(x) W = (1-n)f(x)$$

$$\frac{dw}{dx} - y = e^{x} y^{z} e^{x} W$$

$$\frac{dw}{dx} - y = e^{x} y^{z} e^{x} (B\epsilon)$$

$$W = y^{1-n} = y^{1-2} = y^{-1}$$

$$\frac{dw}{dx} - y = e^{x} y^{z}$$

$$(f) \quad \frac{dW}{dx} + W = -e^{\chi} \cdot 1 \text{ st order larger ODE}$$

$$let \quad I = e^{\chi} \cdot \text{min} |Hp|_{\gamma} \neq b_{\gamma} I$$

$$I \quad \frac{d_{W}}{dx} + W I = -e^{\chi} I$$

$$\frac{d}{d\chi} (I_{W}) = -e^{\chi} e^{\chi} = -e^{2\chi}$$

$$\text{They rade}$$

$$I \quad W = -\frac{1}{2} e^{2\chi} + C$$

$$W = \frac{1}{4} \left(-\frac{1}{2} e^{2\chi} + C \right)$$

$$W = -\frac{1}{2} \frac{e^{\chi}}{e^{\chi}} + C e^{-\chi}$$

$$W = -\frac{1}{2} e^{\chi} + C e^{-\chi}$$

Substitute back
$$W = y^{1-2} = \frac{1}{y}$$

 $\frac{1}{y} = -\frac{1}{2}e^{x} + ce^{-x}$
 $wr \quad y = \frac{1}{ce^{-x} + ce^{x}}$